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Trapetsakrobater avslutar ofta sina nummer genom att hoppa fran trapetsen ner i ett
sdkerhetsnét. Nar akrobaten star i vila i nitets mittpunkt trycks denna ner strackan di.
Man kan anta att nedtryckningen ar proportionell mot den kraft varmed akrobaten
paverkar natet. Hur stor blir den stdrsta nedtryckningen, om akrobaten hoppar fran hojden
h dver natet?
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| E!A 5.00-kg block 1= sct into motion up an inclined plane

with an initial u.pccd of B0 m/s (Fig. P7.25). Thé bluck
comes to rest after traveling 3.00 m along the plane. which
s inclined at an angle of 30.07 10 the horironal. For this
maotion, determine {a) the change in the block's kimenc
energy, (b} the change in the potential energy of the
blnck=Earth svstem. and () the fricuon force exerted on
the block (assumed o be constant). (d) What is the coefh-
cient of kineric friction®

v, =R m/s
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A puck of mass #0.0 g and radius 4.00 cm slides alomg an - @
air table at a speed of 150 m/s as shown in Figure 1034

Pl1.34a. It makes a glancing collision with a secondi puck
of radius 6.00 cm and mass 120 g (initally at restp such Giyebt = m, = 0.2 B = 4,00 cw o
that their rims just touch. Because their rims are coated J

with instant-acting glue, the pucks stick together and spin
after the collision (Fig. P11.34b). (a) What is the amgular
momentum of the system relative to the center of mass? Yy

(b) What is the angular speed about the center of masss? Sout = L (adalHub pmasscetruna hev CS
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